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CONCEPTS IN ORGANIC CHEMISTRY, Synthetic organic chemistry, Isomerism-2 &
Hydrocarbons -2

Which effect is a temporary effect and operates only in the
presence of attacking reagent?

1) Mesomeric effect 2) Inductive effect

3) Hyperconjugatrve effect 4) Electromeric effect

Addition of H" to an alkene is an example of
1) +E effect 2) -E effect 3) +M effect 4) -l effect

The activating effect of - OCH; group attached to the benzene ring can be explained in
terms of

1) +R effect 2) —R effect 3) +E effect 4) - effect
Zero inductive effect is shown by

1) CeHs™ 2)—H 3) CH3™ a4 Cl-

Which of the following is strongest acid?

1) 2—Chloropentanoic acid 2) 3— Chloropentanoic acid

3) 5— Chloropentanoic acid 4) 4— Chloropentanoic acid

CH; group of toluene is o, p-directing group due to the
1) Hyper conjugation 2) Resonance
3) Inductive effect 4) Electromeric effect

Which of the following alkyl groups has the maximum + | —effect?

1) CH;z - 2) CH3CH,— 3) (CH3)CH — 4) (CHs)sC -
Which of the following does not show electromeric effect?
1) Alkenes 2) Ethers 3) Aldehydes 4) Ketones

Aryl halides are less reactive towards nucleophilic substitution reactions as compared
to alkyl halides due to

1) resonance 2) Hyper conjugation

3) I effect 4) All the three

Benzene ring activating groups are

1)-R 2) -OR and —OH 3) —NH; A)All are correct
The o, p-directing but deactivating group is

1) —=NH, 2) -OH 3) R —(alkyl) 4) X—(halogen)

Alkyl halides react with metallic sodium in dry ether producing
1) Alkanes with same number of carbon atoms

2) Alkanes with double the number of carbon atoms

3) Alkenes with same number of carbon atoms

4) Alkenes with double the number of carbon atoms

In order to prepare a pure sample of 2.3 —Dimethylbutane. Which of the following should
be warmed with sodium in ether.

1) Isopropyl bromide 2) Tertiary butyl bromide
3) Ethyl chloride 4) n-Propyl bromide
Methane can be converted to ethane by the reaction

1) Chlorination followed by the reaction with alcoholic KOH

2) Chlorination followed by the reaction with aqueous KOH

3) Chlorination followed by Wurtz react on
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4) Chlorination followed by decarboxylation

When ethyl iodide and n-propyl iodide are allowed to react with
sodium metal in ether, the number of alkanes that could be produced is
1) only one 2) two alkanes 3) three alkanes 4) four alkanes

The reduction of RCN to RCH; NH; by using Na/C, Hs; OH, is called:

1) Wurtz reaction 2) Frankland reaction

3) Mendius reaction 4) Hofmannn bromamide reaction.

Grignard reagent reacts with CO, to produce:

1) aldehyde 2) ketone 3) acid 4) alcohol
A solution of a substance did not show optical rotation in polarimeter. Which of the
following is expected to be correct for the substance?
1) It may be a racemic mixture 2) It may be a meso compound

3) It may not have chiral C-atom 4) Any of the above may be possible.

( Ce¢H4 )CI(OH) shows:
1) Functional isomerism 2) metamerism

3) mesomerism 4) position isomerism.

Glucose and fructose have ---- isomers, respectively:
1) both 16 2) both 8 3) 8,16 4) 16, 8.

A compound with molecular formula C ;H:; shows optical isomerism, the compound will
be:

1) 2,3-dimethylpentane 2) 2,2- dimethylpentane

3) 2-methylheptane 4) none of these

CH;—CHO+ HCN—CH;—CHOH - CN —™% 5 CH;—CHOH—COOH an asymmetric centre
is generated. The acid generated would be:

1) d-isomer 2) l-isomer 3) 50% d and 50% l-isomer 4) 20% d and 80% -isomer.

The two isomers given below are

CH, CH,
H Cl H Cl
H Br Br H
CH, CH,
1) Enantiorners 2) Mesomers
3) Position isomers 4) Diastereomers
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To a mixture of conc. HNO; and conc. H,SO,, benzene was added. This mixture was
heated for 30 minutes at 100°C. The main product is

1) CeHNO;, 2) CeHsSO3H

3) m-Dinitrobenzene 4) m—Nitrobenzene sulphonic acid
Catalyst used in Friedel Craft reaction is

1) Zinc oxide 2) Ferric chloride 3) Sodium 4) Anhydrous AICl;
In benzene all the six C—C bonds have same length because of

1) Isomerism 2) Chain isomerism

3) Resonance 4) Hybridisation

Among the following compounds which can be very easily suphonated?
1) Benzene 2) Nitrobenzene 3) Toluene  4) Chlorobenzene
An aromatic molecule will

i) have 4n n—electrons ii) have (4n+2) 1 electrons

iii) be planar iv) be cyclic

1) (i) (ii) (iii) 2) (i) (ii) (iv)
3) (ii) (i) (iv) 4) (i) (i) (iii) (iv)

A salt producing hydrocarbon among these compounds is
1) Methane 2) Ethane 3) Ethyne 4) Ethene

Which among the following is the most strained cycloalkane

1) Cyclopropane 2) Cyclobutane

3) Cyclopentane 4) Cyclohexane

Acylation of benzene to produce aliphatic aromatic ketone is called
1) Hydroformylation 2) Friedel Crafts reaction
3) Wurtz reaction 4) Benzoin condensation

When acetylene is passed through a red hot tube, the product is
1) ethene 2) benzene  3) ethane 4) toluene

Which of the following theory can explain stability of cyclohexane and higher members
1) Baeyer strain theory 2) Sachse- Mohr theory
3) Molecular orbital theory 4) All of these

Benzene does not give addition reactions even though it contain 3 double  bonds
because

1) double bonds change their position rapidly

2) resonance lowers the energy of benzene molecule and leads to greater
stabilization

3) double bonds in benzene are strong

4) None

Regarding benzene molecule, Which of the following statement is wrong?
1) It has six identical carbon atoms

2) It is an unsaturated compound

3) Itis an unsaturated compound and answers tests for unsaturation

4) C -C bond length is identical



